
SAP ABAP table CLOITCYTM {Transition matrix TCYTM structure for POI}

CLOITCYTM

MANDT [CLNT (3)]

WERKS [CHAR (4)]

MATRIX_ID [CHAR (8)]

VGE01 [UNIT (3)]

PLNTY [CHAR (1)]

T000

MANDT [CLNT (3)]
 CLOITCYTM-MANDT = T000-MANDT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]
 CLOITCYTM-WERKS = T001W-WERKS 0..N

1
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CLOITCYTM-VGE01 = T006-MSEHI 
0..N1

TCA01

MANDT [CLNT (3)]

PLNTY [CHAR (1)]

 CLOITCYTM-PLNTY = TCA01-PLNTY 

0..N

1

TCYMI

MANDT [CLNT (3)]

WERKS [CHAR (4)]

MATRIX_ID [CHAR (8)]

 CLOITCYTM-MATRIX_ID = TCYMI-MATRIX_ID 

0..N

1


